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1. Draw the structure of the following compounds (don't forget stereochemistry). (30 points)
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2. Provide IUPAC names for the following compounds (don’t forget stereochemistry where appropriate). (30 points)
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3. Which carbonyl group is more reactive toward nucleophilic attack, aldehydes or ketones? Explain why. (10 points)

A*@o( ot M/awo@/%m/&dm o Ny a/b(p.,&

-E!', )Eb")\ﬂ Sﬁ/ 0,0%044 oo ot Nepdiwo
4. Show the complete mechanism for the following reaction. Label each step as slow or fast. (15 points)
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5. Explain why the top equilibrium favors the reactants and the bottom one favors the product. (In fact the product
from the bottom equilibrium is a solid and can be purchased from Aldrich). (10 points)
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6. Which carboxylic acid shown below is more acidic? Clearly explain why. (10 points)
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7. Show how to convert 1,3-dithiane to the product shown. Also, provide an IUPAC name for the product. ~ “* 1 47
/ (15 points)
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8. Show the product (or products) produced or the reagents needed for the following synthetic transformations.
(20 points)
0 H* /l "#
a 0 HoN S———————— Ny — NH
: \H NH, SN N
H o
)
0 i Nid
. N H+ ~ \\\
b. e 7 )
0
@
. 0 N ®,, &
C. NaOH + —_— Ho/\/\/\o ;*\QJ
D
CO,H ) . D
1. LIAIDg4, Et,0 —
d - [1 §)<ou

CO,H o/ DoH



ORGANIC CHEMISTRY FALL 2014, LANEY COLLEGE

CHEM 12B (L1/L1L) INSTRUCTOR: S. CORLETT
Exam 3, Part 1 (170 points) Page 5 of 5
9. Show the starting materials for the following products from the following reactions. (20 points)
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10. Avermectin, shown below, is a naturally occurring antiparasitic and insecticidal compound used in veterinary
medicine for the treatment of fur mites (e.g., Omithonyssus bacoti, the Tropical rat mite).

Circle all acetals and lactones indicate if any of the acetals are hemi-acetals? (10 points)




